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i) General Awareness

Which of the following web portal
launched for Sarva Shiksha Abhiyaan
by Central Government ?

(A) ShaGun
(B) Arpana
(C) Umang
(D) None of the above

Which of the following animal given
below is declared as the National
Heritage Animal of India ?

(A) Tiger

(B) Lion

(C) Elephant

(D) None of the above

Which political leader was honoured
with an ‘Global Goalkeeper Award’ by
Bill and Melinda Gates Foundation for
Swachch Bharat Abhiyaan ?

(A) Piyush Goyal

(B) Narendra Modi
(C) Rajnath Singh
(D) None of the above

The book ‘Marx, Gandhi and Socialism’
was written by

(A) L.K.Advani

(B) Jayaprakash Narayan
(C) Ram Manohar Lohia
(D) None of the above

5. Consider the following statements about

“AADHAAR".

1) Aadhaar is a 14 digit unique identity
number.

2) Enrolmentinvolvesthe use of certain
basic demographic information
combined with ten finger prints,
both irisers and photograph.

Choose the right option given below.
(A) Only option 2 is true

(B) Both option 1 and 2 are false
(C) Only option 1 is true

(D) Both option 1 and 2 are true

Garuda is a bilateral air exercise between
which of the following countries ?

(A) India and France
(B) India and Japan
(C) India and England

(D) None of the above

Who was the chief guest of 70th
Republic Day celebration for India on
26t January 2019 ?

(A) Cyril Ramaphosa
(B) Jigme Khesar Namgyel Wangchuck
(C) Barack Obama

(D) None of the above
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8.

10.

11.

Exercise Yudh Abhyas 2019 a joint

military began recently between which
of the following countries ?

(A) India and Japan
(B) India and USA

(C) India and England
(D) None of the above

Which of the following area/s given
below is/are biodiversity hotspot in
India ?

(A) Western Ghats

(B) Nicaobar group of islands

(C) Entire Indian Himalayan region
(D) All the above

Which of the following place won the
“Most Swachch Iconic Place” Award
in Swachch Bharat Mission Awards
released by the Ministry of Jal Shakti,
Department of Drinking Water and
Sanitation ?

(A) Vaishno Devi shrine
(B) Puri Jagannath shrine
(C) Kanyakumari shrine
(D) None of the above

What is the name of all women protection
squad launched to assist women railway
commuters ? '

(A) Joymati Bahini
(B) Nari Shakthi
(C) Mahila Shakthi

(D) None of the above

12

13.

14.

15.

{0 0 000 0

What is TRAI stands for ?

(A) Telecast Regulatory Authority of
India

(B) Telecom Regulatory Authority of
India

(C) Telecom Regional Authority of
India

(D) None of the above

The book ‘Annihilation of Caste’ was
written by

(A) Mahatma Gandhi
(B) Lal Bahadur Shastri
(C) B.R. Ambedkar
(D) None of the above

Who won the 19" Grand Slam title in the
US Open Tennis Championship Trophy —
2019 in the men’s singles category ?
(A) Rafael Nadal

(B) Daniil Medvedev

(C) Roger Federer

(D) None of the above

What is the main aim of the Fit India
Campaign recently launched by the
Central Government ?

(A) To select best athletes from all
over the country to train for next
Olympics game

(B) Encourage people to inculcate
physical activity and sports in their
everyday lives

(C) Provide nutritious food for
adolescent girl child in the rural
areas of the country

(D) None of the above
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16.

VE

Consider the following statements about
Ozone layer.

1. Ozone is a Blue colour gas found
on Earth’s atmosphere.

2. The ozone layer only makes up
0.00006% of earth’'s atmosphere.
Although it protects the earth from
harmful rays.

(A) Only the statement 1 is true

(B) Only the statement 2 is true

(C) Both the statements 1 and 2 are
true

(D) None of the above

Consider the following statements about

Border Security Force (BSF).
1. The Border Security Force (BSF) is
a Border Guarding Force of India.

2. It is a paramilitary force charged
with guarding India’s land border
during war time and preventing
transnational crime.

3. It is a Union Government Agency
under the administrative control of
Ministry of Defence.

4. 1t currently stands as ig weorld’s
largest border guarding force.

(A)
(B)
(©)
(D)

Only the statement 1 is true
The statements 1 and 4 are true
The statements 1, 3 and 4 are true

All the statements 1,2, 3and 4 are
true

18.

19.

20.

Jim Corbett National Park is situated in
the State of

(A) Uttarakhand
(B) Uttara Pradesh
(C) Madhya Pradesh

(D) None of the above

Whatis the main objective of Government

of India Blue Revolution Scheme ?

(A) Overall development of fisheries
sector, including enhancement
of production and productivity,
improving the livelihood of the
fishers and welfare of fishermen

(B) Development of all water sources in

the country by increasing catchment

area by construction of dams etc.

(C) Development of Inland water ways

in the country by interconnecting

rivers

(D) None of the above

What is KG stands for in “KG Basin”,
which is known for the biggest natural
gas reserves in India ?

(A) Krishna-Godavari

(B) Kaveri-Ghataprabha
(C) Ken-Ganga

(D) None of the above
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18.

19.

20.
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21.

23.

24,

25.
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i) General Intelligence and Reasoning Ability

P and Q are brothers. S and T are
sisters. P’s son is T's brother. How is Q
relatedto S ?

(A) Uncle

(B) Grandfather

(C) Father

(D) Brother

There are five books X, Y, Z, W, V. The
book Z lies above V. The book X lies
below Y, V is above Y, W is below X.
Which is at the botfom ?

(A) V (B) Y
C) w (D) Z

Sandesh went 25 meters to the East,
he turned left and walked 20 meters. He
turned again right and went 40 meters.
He again turned right and walked
20 meters. How far is he from starting
point ?

(A) 50 meters
(C) 65 meters

(B) 56 meters
(D) 60 meters

Complete the analogy, Cow : Calf : :
(A) Dog: Puppy

(B) Cat:Cub

(C) Lion: Kitten

(D) Duck : Chicken

Comnlete the series : 5. 10, 15, 20. 25. ?
(A) 30 (B) 35
(C) 50 (D) 55

26.

27

28.

29.

30.

In a dictionary, which of the following
words will appear third ?

(A) Puncture
(B) Punctual
(C) Punctuation
(D) Punctuality

Find the missing letter.

AlF|K

C|H|M

?721Q|V

(A) M (B) |
€) L (D) E
6:222::7:7

(A) 343 (B) 350
(C) 210 (D) 336

Select the words which are least like
others words in the group.

(A) Physics

(B) Chemistry

(C) Mathematics

(D) Civics

Find the correct alternative for Jupiter,

Uranus, Saturn.
(A) Stars

(B) Planets
(C) Satellite
(D) Asteroid
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i) T gigaen qun arfthes araat

PIRQUER SINTTEHE, PH
THAER 1 Q, SY fru YR Gafta 2 7

(A) =T=T
(B) TmT
(C) fuam
(D) Wi

uie =+ X, Y, Z, W, VE | 7% Z, V
FINWE | s X, YF @i ? |

VYSFIRE W XFRL | aad

F - g it 7
(A) V B) Y
C) W (D) Z

T 25 Wex gd | T, 98 9 ge i
20 Hiet Ie | 9% T gt 3R Rt 40 Htex
e | 98 T & and e 3 20 Hiew = |
I8 TRfe foig & ferart g @ 7

(A) 50HiR

(B) 56

(C) 65H=X

(D) 60 #HeX

FHETAT QUi L, MY ; DS ¢
(A) F : Toeen

(B) feoreedt : T =1 s==n

(C) I : Tereeft =1 s=an

(D) =@ : Hqit & TS

S Ut & : 5, 10, 15, 20, 25, ?
(A) 30 (B) 35

(C) 50 (D) 55

26.

27.

28.

29.

30.

TS VoG |, HIET T8 dE FH W
I ¢

(A) Puncture

(B) Punctual

(C) Punctuation

(D) Punctuality

T &G 1A R |

A|lF|K
C|H|M
?21Q|V

(A) M
©) L

(B) |
(D) E

622277
(A) 343
(C) 210

(B) 350
(D) 336

I8 YIs8 T S 9E B o1 vIedl § e
w4 firear g |

(A) ifae fage
(B) T fagm
(C) Tifora ITEx
(D) TR ST

R, F, MR % fore wd foerea gf |
(A) TR

(B) T

(C) 3TE

(D) g=re
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31.

32.

35.

Find the missing number.

3147
5§[3]°
21415

30 |48 |70
(A) 3 (B) 2
(C) 4 (B) 5

Inthe series 422363175432 1
1231754211 how many pairs of
successive numbers have a difference
of 2 each ?
(A) 5
(C) 6

(B) 4
(D) 7

Chennai is to Tamil Nadu as ? is to
Bihar

(A) Bhopal
(C) Ranchi

(B) Patna
(D) Bandipur

In a certain language if ‘POLISH’
is coded as ‘HSILOP’ then how is
‘TUMBLER’ coded ?

(A) REBLMUT (B) RELBMUT
(C) RELMBTU (D) RELBUMT

French, Portuguese, Tamil can be
represented by

(IO
OO0

O

(A)
(B)

(C)

36.

37.

38.

39.

40.

Select the number which is different
from rest three.

(A) 75
(B) 105
(C) 165
(D) 205

Find the missing letters that will complete
the series.

PPAQ ——pPgq-—pp——q-—
(A) ppgpgp
(B) pagppq
(C) papagp
(D) ppappq

Select the pair in which the numbers are
similarly related as in the pair 9 : 81.

(A) 2:6

(B) 3:27
(C) 4:16
(D) 5:125

Select the group of letters which is
different from others.

(A) ZYX
(B) NML
(C) IGH
(D) QPO

If + means —, — means +, x means +,
= means x then value of

20x10+15-20+37
(A) 21
(B) 47
(C) 15
(D) 0
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31.

32.

33.

35.

4=

T e R |

3 4 7
5137

2 |45

30 | 48 | 70
(A) 3 (B) 2
(C) 4 (D) 5

TaAM422363175432112317
5421 1% foha HHTTT TEATA & e

emsEfatowmame ?

(A) 5 (B) 4

(C) 6 (D) 7

=S AreTg ¥ SE YR Tattr & 9 7
fer g

(A) sﬁma (B) T

(C) Tk (D) eIy

& 99T ® ‘POLISH’ #1 Ife ‘HSILOP’
forad & @ ‘TUMBLER' %1 % 31 8t ?
(A) REBLMUT (B) RELBMUT

(C) RELMBTU (D) RELBUMT

M & |

QOO
©) @ O

36.

37.

38.

39.

40.
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e AT YA ST o @ R @ |
(A) 75

(B) 105

(C) 165

(D) 205

A & JTA L S @A 1 g |
PPQQ ——Ppg-pp——q-—

(A) ppapap

(B) paappq

(C) papqap

(D) ppappq
smyERTH 9 817 |

A) 2:6

(B) 3:27

(C) 4:16

(D) 5:125

e 1 I TE YA S A A R R |
(A) ZYX
(B) NML
(C) IGH
(D) QPO

?Jlﬁ+‘€a‘i[34‘25%-,—'ﬂ3ﬁs%+,xaﬂﬂﬁ—:-,
A x A 20 x 10 + 15-20 + 3
FIHH R

(A) 21
(B) 47
) 15
(D) 0
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43.

45.
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ili) Arithmetical and Numerical Ability

The area of a sector of a circle with
radius 6 cm if the angle in the sector is
60°, is (1 = 22/7)

142 132
Lz gl LCOpeec)
(A) - cm (B) - cm
1
(C) 14cm? (D) %cm2

Value of sinA x cosecA x cosA x 3secA
is

(A) (B) 1

L
3
3 (D) None of these
Sides of two similar triangles are in the
ratio 4 : 9. Areas of these triangles are
in the ratio

(A) 2:3

(B) 4:9

(C) 81:16

(D) 16:81

An observer 1.5 m tall is 28.5 m away
from a chimney. The angle of elevation
of the top of the chimney from her eyes
is 45°. The height of the chimney is

(A) 28.5m (B) 31m
(C) 30m (D) 29m

The 11 termofan A.P., =3, —%, - S
is

(A) 28
©€) -22

(B) - 38
(D) 22

48.

47.

49.

50.

HCF of 210, 385 and 735 is
(A) 5 (B) 35
(C) 25 (D) None of these

If the angles of a quadrilateral are in the
ratio3:5:9:13. The smallest angle in
quadrilateral is
(A) 60°
(C) 18°

(B) 36°
(D) 21°

Two consecutive odd positive integers,
sum of whose squares is 290 are

(A) 11and 13

(B) 11and 9

(C) 7and 9

(D) None of these

The value of k if the points A (2, 3),
B (4, k) and C (6, — 3) are collinear is

(A) -3 (B) 3
(C) 0 (D) None of these

A box contains 3 blue, 2 white and 4 red
marbles. If a marble is drawn at random,
the probability that it is white is

(A)
(B)

(©)

O]l O |

None of these

(D)
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iii) STERITTOTAT Ud HEaTeHeh aradn

Ife sar@e 1 Fr 60° 2 a1 6 ..

e ot v 99 % Prsares # dea @
(n =22/7)
142 132
(A) — cm? (B) i cm?
(C) 14cm? (D) % cm?

sinA x cosecA x cosA x 3secA F HH &

B) 1
(D) =99 © 13 e

31 ey sl ot e 4 : 9 % U
2 | 7 Pt & dwet CERIGH
qE |

(A) 2:3

B) 4:9

(C) 81:16

(D) 16:81

1.5 WX o= T qAeers T ot |
28 541, 7 | 3T TG § Terwt o viid
1 3 1T 46° % | et ot Sed @

(A) 28.5m (B) 31m
(C) 30m (D) 29m

1
® 3
© 3

. 1 -
U G Aoft ~3,—§,2,...... F1 11 &

LES
(A) 28
(C) —-22

(B) -38
(D) 22

46.

47.

48.

49.

50.

210, 385 3R 735 1 7q9 ®
(A) 5 (B) 35
(C) 25 (D) T & IS e

IR TEHE QYT F HM3:5:9: 13 %F
FIIE H | TGS T B 0T R

(A) 60° (B) 36°
(C) 18° (D) 21°
3t AT foree eTeeh QTR formes ot
T 290 B
(A) 113K 13
(B) 1139
(C) 739
(D) T & =1 7
I f5g A (2, 3), B (4, k) 3R C (6, - 3)
YA KFTAA B
(A) -3 (B) 3
(C) 0 (D) = & 1S T
T T o 3 Aielt, 2 T R4 T HRE |
Ifs argfee® &1 & UF Shan e st
B Y 3G Yad B4 6 WTienar 8
1
(A) 3
2
(B) s
1
© 3
(D) T & IS &
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51.

52.

53.

55.

If 7%+7 = 49% then x =
(A) 2 (B) 1
(C) -1 (D) None of these

The values of k if the quadratic equation
kx (x —2) + 6 = 0 has 2 equal roots, are

(A) 0,6

(B) 6

(C) -6

(D) None of these

j(x+1) (x +logx)? ot
- o
(x+logx)3+c

3
(B) 1 e
(x +logx)?

1
X +logx

(A)

(C) +C

(D) None of these

If cosA = g where A is an acute angle

then, tan A =
4 3
® 3 ®)
5 3
2 Dy 2
© 3 0 <
Ms. Priya saved Rs. 5 in the first week

of a year and then increased her weekly
savings by Rs. 1.75. If in the n'" week her
savings become Rs. 20.75, then n is

(A) 5 (B) 20
(C) 10 (D) None of these

56.

57.

58.

59.

60.

A O

The area bounded by xy =1, x=0,y = 1
andy=2is
(A) log?2

(C) 2log2

B) 2
(D) log V2

The value of k, if x— 1 is a factor of
p(x) =kx® —v2x +1 is

(A) V2

(B) v2+1

) v2-1

(D) None of these

The sum of the reciprocals of Mr. Ram's
ages (in years) 3 years ago and 5 years

1
from now is 3 His present age is

(A) 7
(C) 6

(B) 4
(D) None of these

Value of 9 sec?A — 9 tan?A =
(A) 1 B) 9
) 8 (D) 0

The height and slant height of a cone
are 21 cm and 28 cm respectively. The
volume of the cone is, (n = 22/7)

(A) 7546 cm3
(B) 7654 cm®
(C) 7504 cm3

(D) None of these



51. Ife 7%7 = 494 G x =
(A) 2 (B) 1
(€) -1 (D) 37 @ =18 e

52. k3 HH I feuma Tl ke (x—2) +6=0
% 3 J9H 99 &
(A) 0,6
(B) 6
(C) -6
(D) T & g T

53. J-(x+1)(x+logx)2 dx =
X

3
(x +logx) !
3

3 +C
(x +logx)?
1
+C
X +logx

(D) T & FI3
54. R cosA=% St A T =5 B & @

tan A =

(A)

(A)

(B)

©)

(B)

Wl w|s
olw bh|w

(©) (D)

55. gt i ueh o o oy TR # 5%, st
? 3R T 319+t wrearfes s9a &t 1.75 .
et &t & | IR n 3 TwE I S=a
®.20.75 AR ANL
(A) 5 (B) 20
(C) 10 (D) ¥ & FI3 T
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56.

57.

58.

59.

60.
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g3 fi damg xy =1, x =0,y =1 3K
y=2

(A) log2
(C) 2log2

(B) 2
(D) log V2

k31T, T x — 1, p(x) = kx? —V2x +1

1 TF TTHEE §

(A) V2

(B) V2 +1

(C) v2-1 |
(D) T ¥ IS T

oft T A 371 (st #) % fF o o SiR

5aﬁa1aaaagc—am“imu‘m%% | Sght
FAH Y &

(A) 7 (B) 4

(C) 6 (D) 379 & s &
9 sec?A — 9 tanA FTHHA T

(A) 1 B) 9

(C) 8 (D) O

T Y% il S8 IR ferde =g 21 €.

3K 28 F.t. A ¥ | YF HT HH B
(m = 22/7)

(A) 7546 cm?®

(B) 7654 cm®

(C) 7504 cm3

(D) 7§ H1 T
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iv) Hindi Language and Comprehension

&=t v sy
61. el o1 dodH T8 & 66. ‘e’ = ofy fa=de
(A) Fer: (B) Feel (A) 39 + ¥
(C) Eﬁaf%!%: (D) ﬁ%m: (B) 3-%_'_“
62. Frafefaa st & & frg frsew & oft (C) 3q + R
Y168 HferaTa® G0 & 7 (D) 3q + B
(A) T, S, THTH .
(B) Ui, YHTEe, e 67. ‘S W H I @
(C) 3T, BT, SeITg (A) 34 B) I
(D) e, IR, STTeht (C) 3d% (D) i3 =&
63. TVl o et & 5 TTeieh T -FwgE i 68. iagel-Niagar wea I w1 T 7
FEd© | T faees g |
(A) 93 (B) I (A) Terieft-fagramma
IR e (D) (B) wfoga-weantt
64. ‘IR~ W L 3G ? (C) wfearft-fa=mft
(A) ITR-3TE (D) feradia-aeien
(B) -t 69. & WM WIH TH I T |
o T o e
S (B) W AT
65. @el e Fifve . (C) Tufye ar
a. fa=m | GT&or (D) =
b. s=E Il. %
c. 9 . %<9 70. ‘drar vree O veg-Ne FIETR ?
d. W@ V. 92 ) S @)
@ () () (@ (©) e D) e
(A) () am an o av)
B) (I () m v 71. ‘9@ g amIEI T R ?
(C) (m) (1) (v) (A) = (B) It
(D) (V) (1 (y () (C) st (D) %=

-16-



72. HE A g |
(A) === Sl FEH b fga sl |
(B) AT SITEN =T |
(C) v ! g e fram a9 |
(D) # 3t foremery =& s |

73. ‘veamre’ viee =1 faug g
(A) T H AR
(B) ¥ % faw ame
(C) TIHI TR
(D) I HI 3T

74. TSI ORIET S TR |
(A) Hfew sprhrer
(B) EHT= SfsIehet
(C) Ty adum=H
(D) o Hfgihret

75. w& e $ifsr

a. &fa
b. @

| ==e
Il @™
c. fer Hl. 7o
d. 31dur IV. &

(@ () (¢ (@
A av)y 0
B) ) av)y (@  m
© am avy - a Q)
@ O vy
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76.

7.

78.

79.

80.
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“TAeTal AT Yise i e B
(A) 5 I

(B) Td &1 2@

(C) =a® fou gmn

(D) W& 3R g

3& a1 faurs § | W@ifed vse S-a1
ey 7

(A) TUrETEH
(B) gdfueh
(C) TEE=®
(D) ufETIEEE

162 ~To1 fohaa TR il Bt & 7
(A) & (B) IR

(C) @™ (D) 9=

e 3 g™ femn | e W Shifem =

=al

(A). TRt 3 T feam |

(B) Tt A TM faam |

(C) T A w1 %t g f&am |
(D) T+t 3 e fear |

‘FET I152 ¥ HH-HT1 Y58 Jomefes fEa
9 ?

(A) HEHT
(B) fema
(C) waT?
(D) =EET
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v) English Language and Comprehension
ST W ok Ay

Fill up the blanks with appropriate articles
from among the options given below them.

81. He said he would have
orange.

(A) a
(B) an
(C) on
(D) none of these

82. The educated should teach
illiterate.

(A) the
(B) an
(C) a
(D) none of these

83. Pacific Ocean is the deepest
of earth’s oceanic divisions.

(A) A

(B) An

(C) The

(D) No article required

Add suitable question tags to the following
statements from among the choices given
below them.

84. |can help you ?
(A) canl (B) can'tl
(C) couldnt | (D) will |

85. It was a fatal accident, ?
(A) ain'twe (B) aren't we
(C) wasn'tit (D) were we

Select the word that is opposite in meaning
(antonym) to the word given in the
guestion.

86. Sedentary
(A) slack
(B) active
(C) inhabit
(D) attentive

87. Novice
(A) learned
(C) able

(B) expert
(D) gifted

Choose the correct form of the verb from
among the choices given below them and
fill in the blanks.

88. Cows
(A) eat
(C) had ate

grass.
(B) eating
(D) have ate

89. The Swamiji
yesterday.

(A) spoke

(B) had spoken
(C) speaking
(D) speaks

very eloguently

90. Take care that you not
cheated.

(A) will not be
(B) are

(C) won't

(D) shall not be




Select one word substitute for the following.

91. ‘A place where horses are kept’
(A) Shed (B) Stable
(C) Kennel (D) Pen

Each of these questions presents a word
that may have been spelt incorrectly. From
the choices provided pick the correct spelling
and mark that option of the right choice as
the answer.

92. Fluktuation
(A) fluctuasion
(C) flektuation

(B) fluctuation
(D) fluctution

93. Ricieve
(A) recieve (B) receive
(C) riceeve (D) riceave

Fill in the blanks with suitable prepositions
from among the choices given below them.

94. [I'll be at home Friday morning.
You can phone me then.
(A) at (B) on
(C) in (D) for

95. What time did they the hotel ?
(A) arrive to (B) arrive at
(C) arrive in (D) getin

96. Have you read any books

Agatha Christie ?
(A) of (B) from
(C) by (D) none of these

MKG-XXV/TECHCIAE/1T/06

Read each sentence to find out whether there
is any error in it. The error, if any will be one
part of the sentence, the number of that part
of the answer.

97. Despite of / taking plenty of / fluids he

(A) (B)
felt exhausted / tired and dehydrated.
(©) (D)

98. | have a lot/ of work to complete and /

(A) (B)
so don’t get worried / when | am late.
(©) (D)

Select the word that is most similar in meaning

(synonym) to word given in the question.

99. Transient
(A) concise
(B) hasty
(C) persistent

(D) impermanent

100. Demography

(A) People’s leader

(B) Language of the people
(C) Study of population

(D) None of these
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101.

102.

108.

104.

SECTION - B
Post Specific Subject — Related Questions

The category of safety signs with circular
shape having black symbols on white
background with red border and cross
bar is

(A) information signs
(B) mandatory signs
(C) warning signs

(D) prohibition signs

Class D category of fires are mainly
associated with fire on

(A) wood

(B) flammable liquids
(C) metals

(D) liquified gas

The fire extinguisher that must not be
used on an electrical fire is

(A) halon

(B) foam

(C) carbon dioxide
(D) dry powder

A 100 Volt lamp has a hot resistance of
250 Q. Power rating of the lamp in watts
is

(A) 60

(B) 25

(C) 15

(D) 40

105.

106.

107.

108.

For an outside micrometer, the
circumference of the bevelled edge of
the thimble is graduated into

(A) 10 divisions
(B) 25 divisions
(C) 50 divisions
(D) 100 divisions

The stake employed in folding sheet
metal and used in forming, riveting or
seaming tapered, cone shaped articles
such as funnels is

(A) hatchet stake
(B) bevel edge square stake
(C) square stake

(D) blow horn square stake

The edge or border made by folding that
stiffens the sheet of the metal and does
away with sharp edges is called

(A) notches
(B) vertices
(C) hem

(D) datum

Chisels employed for cutting curved
grooves or oil grooves is

(A) cape chisel

(B) cross-cut chisel

(C) diamond point chisel
(D) half round nose chisel
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101.

102.

103.

104.
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O - §
e wfafees g - g9t g

gean fgt Y Soft et w¥he gyt w
T TS 3R HTE TS T HIeN Feohel ForeH
TR ATFH &

(A) T HeHA

(B) fard wara

(C) =arat Wha

(D) fu Tsa

Fmfraipah _  wama.
TEfoa R |

(A) TSt

(B) oo 59

(C) =g

(D) el A

g JAfeme o8 e faga o m w v
T T s =Ry

(A) &

(B) =m

(C) e SIZATHTES

(D) % 9SST

T& 100 diee AT HT FWAT Yy 250 Q
? | <9 it wifer Sufpa st A R

(A) 60

(B) 25

(C) 15

(D) 40

105.

106.

107.

108.

T TR AT 7 T & Ve fFm
i it 4 forora B 2 |

(A) 10 Wi |
(B) 25 9T |
(C) 50 wmi &
(D) 100 ¥TT

T, T o AT hi TEGIHT I Y
T, Sired I1 HiH § S R e At
EIRE G R RI DIRCTAR

(A) TRHa

(B) wauT fohm vt g

(C) F g

(D) =t & i ger

T % g s SR an T s ang i
T H FE H S AR i A [
FATE, FEATAT & |

(A) FeE
(B) s

(C) #meR
(D) 3MER

Fshel 11 AT A T3 11 <l e o [T TS
I ER=T R

(A) FTBFA

(B) fr=i-=me st

(C) Eru i Bt

(D) e =1 fereRT Bt
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109.

110.

111.

112

113.

The part of the hammer that is left soft is
(A) cheek

(B) face

(C) peen

(D) shank

The tap wrench most suitable for large
diameter taps and can be used in open
places where there is no obstruction to
turn the tap is

(A) Double-ended adjustable
(B) T-handle
(C) Solid type
(D) Plug type

Out of the following, which one is not a
type of rivet ?

(A) bevel head

(B) tinmen’'s

(C) flat head

(D) countersunk head

The type of threads, where the pitch and
lead are equal or identical is

(A) double start thread
(B) right hand thread
(C) single start thread
(D) left hand thread

The die stock employed for circular split
die is

(A) quick cut die stock

(B) button pattern die stock

(C) half die stock

(D) adjustable screw plate die stock

114.

115.

116.

il e

Of the following metal sheets, the size
and thickness of the sheets are denoted
by special marks and not by gauge
numbers is

(A) tin plates
(B) sheet steel
(C) galvanised iron sheets

(D) brass sheet

In the diode symbol, if the arrowhead
is negative with respect to the bar, the
diode is

(A) reverse biased

(B) forward biased

(C) unbiased

(D) forward or reverse biased
The number of P-N junction in a
transistor is

(A) one

(B) two

(C) three

(D) four

A silicon controlled rectifier or SCR is
also known by the name

(A) triac
(B) diac
(C) thyristor

(D) unijunction transistor



109.

110.

1

112.

113.

T 1 9T S g Sig foan s @
(A) T
(B) T@
(C) 9=
(D) ¥

oS Y et Al 3 (o Tt IugE
T FHEH Fre ISR SR S g T g
ST TR S HehdT @ S8t Tl ol 68
o s SET TR

(A) 2 BrETe TS

(B) A-Te=

(C) 38 T&HR

(D) = YFHR

Fafafaa 3 & SH-a1 Hias 51 v TR
TEE?

(A) waor 3id

(B) feaim =

(C) auaw Iy

(D) HI3TES IiY

TG 1 IHR, STET U= IR e srrer A
TF S B

(A) @Tel AR g

(B) =mi e dg

(C) e TR T

(D) =Tt & g

TR TTSTh ST TR ST TR 218 T4k &
(A) o FR T’ Riw

(B) A Yo T3 Wi

(C) ey w=H

(D) THRISHIT B ©i T ©ih

114,

115.

116.

117.
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frafeRaa ag =red 4 § 9 fed amen
3 et faftre foelt gra 2wis st 2 9
o e el g | 9 R

(A) & =rey

(B) I i

(C) Treaa Tie T

(D) diaet =mET

Trare fg 4, 9k o3 % wmw R # i
U &, T SIS ©

(A) 3T A I

(B) 3T IR Gl goTl

(C) gFmRfEa

(D) ST AT Ie FH A

T ZifsT 7 P-N Site 1 g @
(A) T
(B) &
(C)
(D) =R

s el e feest ar SCR =t
%I Y ot ST S R

(A) TTH

(B) STTH

(C) IRfGA

(D) SIS ZX
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118.

119.

120.

121.

The element that has the biggest size
in a transistor is

(A) base

(B) collector-base junction
(C) emitter

(D) collector

The three terminals of a silicon controlled
rectifier are

(A) anode, cathode, grid
(B) anode, cathode, drain
(C) cathode, anode, gate
(D) cathode, anode, base

A length of wire has a resistance of 4.5 Q.
The resistance of another wire of the
same material three times as long and
twice the cross-sectional area will be
(A) 9.98Q

(B) 7.78Q

(C) 8.65Q

(D) 6.75Q

The current flowing in the below given
circuit, which uses two oppositely
connected ideal diodes in parallel is

2
M
D, De
=12V
8 4
(A) 6A (B) 45A
©) 2A (D) 12A

122.

123.

124,

125.

The current conduction within a P-N-P
transistor is by

(A) electrons
(B) acceptor ions
(C) donor ions

(D) holes

The colour bands that will be found on
a resistor with a nominal value of 390 Q
and a tolerance of +10% would be

(A) orange, white, brown, silver
(B) yellow, white, black, gold
(C) yellow, white, black, silver

(D) orange, white, brown, gold

A resistor is rated for 10 KQ, 1 watt. Its
maximum voltage rating is

(A) 50V

(B) 100V
(C) 500V
(D) 1000V

Out of the following, the resistor having
very accurate value is

(A)
(B)
(C)
(D)

cermet
metal film
carbon film

wire wound
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118.

149

120.

121.

T dca fSme & gt ° g=| WSt
FHTHR BT &

(A) =&

(B) FHeleei~od SIaH

(C) Wit

(D) FeiFeR

s ffemria fafia e F v oa
(A) =T, o, fire

(B) &, KT, §7

(C) =, 94T, e

(D) UM, €A, §9

T W15 o dR & 9feY 4.5 Q® | 39t
yaTe % gE a1 e et sar 7
T PR ARG -FHTE FFAFS M

(A) 9.98Q

(B) 7.78Q
(C) 8.65Q
(D) 6.75Q
e fe e uftae & sresaett ferga shawi
¥ forodia @ et Swits w1 SR e @
2
M-
D, D,
- 12V
4

(A) A (B) 45A
(C) 2A (D) 1.2A

122.

123.

124.

125.
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UF P-N-P Zifsree & faga amem
TR

(A) FTH

(B) T IH

(C) &t ImH

(D) foz

T AT HTE HE 390 Q 37 TF +10% i
FeAierar aret U Wiekiess I g T
vzt &

(A) R, Yo, o, freat

(B) diett, vaq, Frelt, gAad!

(C) dictt, vaa, Fett, et

(D) i, ¥, o, Gl

T fcRTera 1 gUeh 10 KQ, 1 aie T
T §, T AR Aiees S0 FH B
(A) 50V

(B) 100V

(C) 500V

(D) 1000V

Frafafas & @, waifts s /8 79
AT Tferiee 2 |

(A) T

(B) ©1g 9

(C) el Wa

(D) R st
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126.

127.

128.

-26-

Two coils connected in series have a
resistance of 18 Q and when connected
in parallel have a resistance of 4 Q. The
value of resistances will be

(A) 20,16 Q
(B) 40,14 Q
(C) 89,100
D) 60,120

Six resistors are connected as shown
in below figure. If a battery having an
E.M.F. of 24 volts and internal resistance
of 1 Q is connected to the terminals A and
B, the current from the battery will be

A 3Q C 5Q E 2Q

8Q 6Q 40%

Be

T4

D
(A) 25A
(B) 3A
(C) 35A
(D) 4A

Two electrical signals represented by
A=101101and B=110101 are applied
to a 2-input AND gate. The output of the
AND gate will be

(A) 100111
(B) 100011
(C) 101011
(D) 100101

129.

130.

131.

132.

The number of base terminal

in an
Unijunction transistor is

(A) two

(B) one

(C) zero

(D) three

The most important advantage of an

Integrated Circuit is its
(A) easy replacement in case of circuit
failure

(B)
©)

(D)

extremely high reliability
reduced cost

low power consumption

The main factor which differentiates
a depletion type MOSFET from an
enhancement type MOSFET is the
presence of

(A) Channel

(B) P-N junctions
(C) Insulated gate
(D) Electrons

The two measuring faces of an outside
micrometer are

(A) thimble and spindle
(B) ratchet and spindle
(C) anvil and thimble

(D) anvil and spindle
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126.

127.

128.
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TEST § JEI &1 FHeforal 1 Il 18 O

? 3R 99 TuEIR § S @ @ gfdy

4 Q% | wfeen =1 4 B

(A) 20,16 Q

(B) 40,140

(C) 8Q,10Q

(D) 6Q,12Q

: Wit e feame e femmgam s # 1 3l

24 912 % JTATSE 3R 1 Q AT Tty

et U §31 i A B A FE R, AT ad

¥ fogga v =m

re B0 C 50 E 20
8Q 6Q 40%

e 3 -

(A) 25A

(B) 3A

(C) 35A

(D) 4A

A=101101 3R B = 110101 I ST A

a1 &1 faregd Tekd Tah 2-377a@ AND 12 T

S A & | AND 712 51 STTerh 2
(A) 100111
(B) 100011
(C) 101011
(D) 100101

129.

130.

131.

132.
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T Uohdl THSIS e § oF e 6t
e

(A) @

(B) T

©) T=

(D) =

T Ushighd T S Haiiereh Haeaqol o
2

(A) TRTY STEHS B T ATHM Ffoema=
(B) Tcats 3= favaa-iaan

(C) w7 Fima

(D) =1 wfed @ua

TE Y I S U HF&R T MOSFET
3R & T8 TFR F MOSFET &I J9%
FAIR, T hiufeAfa |

(A) =&

(B) P-N S&vHg
(C) UfraTie
(D) TerRZ=Y

TS STel HISShIHTER o &1 HIGH 92 &
(A) Sfert SR Tehel

(B) W 3R Tk

(C) Hem i e
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Silicon is preferred over germanium for
manufacturing Zener diodes because it

(A) is relatively cheap
(B)
(C)

needs lower doping level

has higher temperature and current
capacity

(D)

has lower break-down voltage

In a lead acid battery, the faure plates
are made up of rectangular grids that are
filled with an active material which is

(A) pure lead
(B) lead peroxide
(C) lead sulphate
(D) lead oxide

The logic gate having an output of 1,
when either one of the inputs or both
inputs are 1 is

(A) NOR
(B) AND
(C) NOT
(D) OR

The type of capacitors having capacitances
in the range of 0.1 pF-1000 pF with
a working voltage in the range of
3-125V D.C. and finds its usage in small
space requirement, high reliability and
low leakage is

(A)
(B)
()
D)

metallized polypropylene
electrolytic-aluminum
metallized polyester
electrolytic-tantalum

137.

138.

138.

140.
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The marking media used on filed or
machine finished surfaces which gives
very clear lines but takes more time for
drying than the other marking media is
(A)
(B)
(©)
(D)

cellulose lacquer
copper sulphate
prussian blue

white lead powder mixed with
turpentine

The angle of the point for a center
punch is

(A) 30°
(C) 45°

(B) 90°
(D) 60°

A100KVA, 2400/240V ,50Hztransformer
has 300 turns on the secondary winding.
The number of primary turns is

(A) 600 (B) 1200

(C) 2400 (D) 3000

In the network shown below if C; =C, =
C3 =C,4 =8 yF and Cg = 10 pF. The
equivalent capacitance between points
AandB is

C,
il
I D GCs C. g
A C, €
-
Cs
(A) 8 puF (B) 4 pF
(C) 10 uF (D) 5uF
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For marking conductors in equipment or
apparatus in a three phase AC system,
the colour code to identify the three
phases and neutral are

(A) red, yellow, blue, black
(B) red, blue, yellow, green
(C) red, blue, yellow, black
(D) red, yellow, blue, green

The relation between frequency F in Hz,
speed nin revolutions per second and
number of poles P of an alternator is
given as

(A)
(B)
(C)
(D)

For a rotating field type alternator
whatsoever the number of phases may
be, it requires only

(A) one slip ring
(B) two slip rings .
(C) three slip rings
(D) four slip rings

Capacitance can be mathematically
expressed in terms of charge Q and
potential difference or voltage V as

(A) QV (B) QV/2

(C) Q/V (D) V/Q

145,

146.

147.

148.

A brown colour is marked on a fuse
cartridge and its corresponding fitting
screws, the rating of the fuse cartridge is

(A) 2 ampere
(B) 4 ampere
(C) 6 ampere
(D) 10 ampere

Out of the following, the material which
is not used for coating an electrode
employed in metal arc welding is

(A) calcium dioxide
(B) titanium oxide
(C) cellulose with sodium silicate

(D) asbestos clay

When the load is removed from an
alternator, its terminal voltage rises from
480V at full load to 660 V at no load. The
voltage regulation is

(A) —27.2%
(B) -87.5%
(C) 37.5%
(D) 27.2%

The temperature co-efficient of a
thermistor

(A) is always positive
(B) can be both positive or negative
(C) is always negative

(D) is always zero
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When a lead acid battery is fully charged,
the charging current starts electrolysis
of water resulting in hydrogen given off
at the cathode and oxygen at the anode.
This process being known as

(A) gassing

(B) hydrogenation
(C) sulphation
(D) venting

The direction of induced E.M.F. in a
conductor or coil is given by

(A) Faraday’s law
(B) Coulomb’s law
(C) Lenz's law
(D) Joule’s law

Which of the following immediate action
should be taken for a particle in the eye ?

(A) Rub the eyes
(B) Flush with water
(C) Apply ointment
(D) Call a doctor

A good manual lifting technique for lifting

a load from the floor includes

(A) Keeping the feet together and
bending the knees

(B) Keeping the feet together and

bending the back

Keeping the feet apart and bending

the knees

(C)

(D) Keeping the feet apart and bending

the back

153.

154.

158.

156.

0 0 O A B

Which of the following is used to check

the clearance between two mating
surfaces ?

(A) Feeler gauge
(B) Plug gauge
(C) Ring gauge
(D) Slip gauge

Which of the following is generally used
for testing flatness of surfaces and
parallelism of bars and rods ?

(A) Dial indicator

(B) Bevel gauge

(C) Sine bar

(D) Slip gauge

Shaving or paring off thin slices or flakes
of metals to make a fine smooth surface
is called

(A) Grinding

(B) Filing

(C) Forming

(D) Scraping

Scribing block is used to
(A) Check the trueness of the flat
surface

(B) Check the roughness of the
surface

(C) Support the round rods during

marking

(D) Locating centres of round rod
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A file removes the metal

(A) in backward stroke

(B) in forward stroke

(C) in forward and backward stroke
(D) depends on applied force

Depth of the blind holes, grooves, slots
is measured by

(A) Telescopic gauge

(B) Depth gauge

(C) Vernier height gauge

(D) Steel scale

Screw thread micrometre is used to
measure

(A) measure the pitch diameter of screw
thread to the accuracy of 0.02 mm
(B) measure the pitch diameter of screw
thread to the accuracy of 0.01 mm
(C) measure the pitch diameter of screw
thread to the accuracy of 0.002 mm
(D)

measure the pitch diameter of screw
thread to the accuracy of 0.001 mm

Dressing of grinding wheels to restore
sharpness is done by

(A) Diamond dresser
(B) Tool steel dresser
(C) Pumice stone dresser
(D) Solid carbon steel bar

161.

162.

163.

164.

165.

An accident with very heavy damage is
called

(A) Fatal
(B) Trivial
(C) Minor accident

(D) Near accident

The stroke of any engine is
(A) Half of the crank throw
(B) Equals to crank throw

(C) Twice the crank throw

(D) Four times the crank throw

Which tool is used to making the existing
holes exact round ?

(A) Reamer (B) Twist drill
(C) Flat drill (D) Tap set

Which of the following formula is used
to calculate the tap drill size ?

(A) d=064p (B) D=T-2d
(C) d=065p (D) T=D-2d

Which of the following is used to shape
wires into loops and bend sheet metal
edges ?

(A) Round nose plier

(B) Snip

(C) Cutting plier

(D) Slip nose plier
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The fastener passed through drilled
holes in the two parts to be fastened
together and clamped them securely to
each other as the nut is screwed on to
the threaded end is called

(A) Through bolt

(B) Tap bolt

(C) Lewis foundation bolt
(D) Cap screw

The nut consists of a hexagonal portion
with a cylindrical upper part which is
slotted in line with the centre of each
face and split pin passes through two
slots in the nut and a hole in the bolt, so
that a positive lock is obtained unless
the pin shears is

(A) Grooved nut

(B) Sawn nut

(C) Castle nut

(D) Jam nut or lock nut

Which of the following non-destructive test
is used to detect surface cracks or flaws in
non-ferrous metals which are very small
to detect with the naked eye ?

(A) Ultrasonic test

(B) Liquid penetration test
(C) Radiographic test
(D) Magnetic dust test

169.

170.

.

{5 0 0 O

is indicative of the ease with which
a material is capable of conducting an

electrical current.
(A) Conductivity
(B) Resistance
(C) Capacitance

(D) Coerciveness

The firing order is the

(A) order in which the cylinders are
numbered

(B) sequence in which cylinders deliver

their power strokes

(C) sequence in which the connecting

rods attach along the crankshaft
direction in which the crankshaft

(D)

rotates

Which of the following law states that
pressure in an enclosed fluid can
be considered uniform throughout a

practical system ?
(A) Chezys law
(B) Gay Lusaacs law
(C) Pascal’s law

(D) Charles law
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172. The following symbol represents

(A) pressure control valve
(B) direction control valve

(C) flow control valve
(D) time delay valve

173. The property of liquid which offers

resistance to flow is called
(A) Viscosity

(B) Adhesiveness

(C) Surface tension

(D) Capillarity

174. The symbol used for FRL unit

i

(A)

(B)

(C)—j—;
i

175.

176.

V7L

178.

0 T O O

The difference between the upper

limit and lower limit of a dimension is
called

(A) Nominal size
(B) Basic size
(C) Actual size

(D) Tolerance

A basic shaft is one whose
(A) lower deviation is zero
(B) upper deviation is zero
(C) lower and upper deviations are zero

(D) none of these

Which of the following flux is used in
soldering ?

(A) Copper sulphate
(B) Zinc chloride

(C) Hydrogen peroxide
(D) Sodium chloride

Which is the heat treatment operation
involving heating of steel above upper
critical temperature and then cooling in
air ?

(A) Annealing

(B) Tempering

(C) Hardening

(D) Normalising
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The extra hardness, brittleness and
unwanted induced stress and strain in
hardened metal is reduced by

(A) Annealing
(B) Tempering
(C) Hardening
(D) Normalising

Solders are essentially alloys of
(A) Tin and Copper

(B) Tin and Lead

(C) Tin and Aluminium

(D) Tin and Zinc

The soft steel sheet coated with molten
zinc to resists rust formation on surface
and improves appearance and water
resistance is called

(A) Tin sheet
(B) G.l. sheet
(C) Black iron sheet

(D) Stainless steel sheet

is commonly used for Planishing
tapered work and hand forming of
similar conical shapes of sheet metal.

(A) Funnel stake
(B) Beak horn stake
(C) Hatchet stake

(D) Half moon stake

183.

184.

185.
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is made by booking two folded
edges of sheet metal part together and

then off-setting the seam.
(A) Single seam

(B) Double seam

(C) Grooved seam

(D) Lap seam

The welding process which uses a
mixture of iron oxide and granular
aluminium in superheat liquid state is

poured around the parts to be joined is
(A) Thermit welding

(B) Explosive welding

(C) Electron beam welding

(D) Spot welding

Which of the following flame is used for

welding high carbon steel ?
(A) Neutral Welding Flame
(B) Oxidising Welding Flame

(C) Carburising or Reducing Welding

Flame

(D) Gas Cutting Flame
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The device used to measure relative
humidity

(A) Sling psychrometer

(B) Thermocouple

(C) Hydrometer

(D) Pyrometer

Which of the following is a portable,
self-contained hydraulic power unit with

auxiliary equipment especially adapted to

cleansing refrigeration capillary tubes ?
(A) Sling psychrometer

(B) Thermocouple

(C) Hydrometer

(D) Cap-Check

is a throttling device which
works automatically, maintaining proper
and correct liquid flow as per the dictate
of the load on the evaporator.

(A) Thermostatic Expansion Valve
(B) Thermocouple

(C) Constant Pressure Expansion Valve
(D) Cap-Check

The temperature at which the moisture
in the air begins to condense is called

(A) Freezing point
(B) Dew point
(C) Humidity

(D) Latent heat

190.

191.

192.

193.

are employed for joining soft
copper tubes.

(A) Flared joints
(B) Welded joints
(C) Soldered joints
(D) Brazed joints

Which of the following is used to
measure the inside diameter of cylinders
very accurately ?

(A) Dial bore gauge
(B) Telescopic gauge
(C) Inside caliper

(D) Micrometer

Which of the following sensor is used in
wipers ?

(A) Magnetically inductive-type sensor
(B) Proximity sensor

(C) Potentiometer sensor

(D) Flip flop

Which of the following is used to
determine crankshaft position (position
of the pistons) of the engine ?

(A) Engine-speed sensor
(B) Proximity sensor
(C) Potentiometer sensor

(D) Flip flop
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194,

195.

196.

Which bus system is used for Engine-
management system (Motronic for
gasoline engines or EDC for diesel
engines) \ Electronic transmission

control ?

(A) High-speed CAN (CAN-C)
(B) Low-speed CAN (CAN-B)
(C) CAN-H

(D) CAN-L

used to connect two pipes of

different diameters.
(A) Bends

(B) Reducing socket
(C) Plug

(D) Nipple

The distance between the centres of
the adjacent rivets in the same row is

called

(A) Diagonal pitch
(B) Row pitdh
(C) Pitch

(D) Margin

197.

198.

198.

200.

(A 0 0 0 O O

Which of the following drilling machine
is used primarily for drilling medium to
large and heavy workpieces ?

(A) Sensitive drilling machine
(B) Pillar drilling machine

(C) Radial drilling machine
(D) Gang drilling machine

Which of the following device is used to
hold job firmly and guide the cutting tool ?
(A) Template

(B) Clamp

(C) Jigs

(D) Fixtures

Which of the drilling machine is used
for drilling holes in workpieces in any
position, which cannot be drilled in a
standard drilling machine ?

(A)
(B)
(©)
(D)

portable drilling machine
upright drilling machine
sensitive drilling machine

radial drilling machine

‘What is meant by SMAW ?

(A) Slug Metal Arc Welding

(B) Shielded Metal Arc Welding
(C) Solder Metal Arc Welding
(D) Stick Metal Arc Welding
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(A) Slug Metal Arc Welding

(B) Shielded Metal Arc Welding
(C) Solder Metal Arc Welding
(D) Stick Metal Arc Welding
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Iufteari % fore mgargut argawm

13. This booklet contains 48 pages.

14. Directions : Each question or incomplete

h5:

17.

18.

19.

statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

0800

Wrong Method

000

Wrong Method

O@®@OO0

Correct Method

0e00

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (®) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

13.

14.

15.

16.

17.

18.

19.
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Go through instructions given in Page No. 1 (Facing Page)
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